

Government of the People's Republic of Bangladesh
Improvement of Fiscal Forecasting through Development of Macroeconomic Model Scheme
 Strengthening Public Financial Management Program to Enable Service Delivery (SPFMS)
 Finance Division, Ministry of Finance

**Training Calendar 2025-2026
 (Training)**

SL No	Title	Organized By	Participants	Number of Participant (Tentative)	Durations (in Days)	Total Man-days	Training Period		Venue	Remarks
							From	To		
July 2025										
1.	Advance MS-Excel (Phase-01)	Macro Scheme	FD officials	25	05 days	125	15.07.2025	22.07.2025	FD Multipurpose Hall (Level-17)	
August 2025										
2.	Training on CGE Model	Macro Scheme	FD officials & Scheme Consultants	25	03 days	75	06.08.2025	08.08.2025	SPFMS Conference Room	
3.	Training on Public Procurement Rules	Macro Scheme	FD officials	25	03 days	75	10.08.2025	12.08.2025	FD Multipurpose Hall (Level-17)	
4.	Training on Eviews Software	Macro Scheme	FD officials	25	05 days	125	24.08.2025	28.08.2025	FD Multipurpose Hall (Level-17)	






SL No	Title	Organized By	Participants	Number of Participant (Tentative)	Durations (in Days)	Total Man-days	Training Period		Venue	Remarks
							From	To		
November 2025										
11.	Advance Level Data Analysis and Visualization	Macro Scheme	FD officials	25	5 days	125	02.11.2025	06.11.2025	FD Multipurpose Hall (Level-17)	
12.	Training on Best Practices of MFM/Mod/Macroeconomics (Phase 01)	Macro Scheme	FD officials	25	10 days	250	16.11.2025	25.11.2025	Abroad	
13.	Training on Best Practices of MFM/Mod/Macroeconomics (Phase 02)	Macro Scheme	FD officials	25	10 days	250	26.11.2025	05.12.2025	Abroad	
December 2025										
14.	Training on Best Practices of MFM/Mod/Macroeconomics (Phase 03)	Macro Scheme	FD officials	25	10 days	250	07.12.2025	16.12.2025	Abroad	
15.	Advance Econometrics	Macro Scheme	FD officials	25	05 days	125	17.12.2025	23.12.2025	FD Multipurpose Hall (Level-17)	
16.	Writing Report and Policy Brief	Macro Scheme	FD officials	25	03 days	75	28.12.2025	30.12.2025	FD Multipurpose Hall (Level-17)	






SL No	Title	Organized By	Participants	Number of Participant (Tentative)	Durations (in Days)	Total Man-days	Training Period		Venue	Remarks
							From	To		
March 2026										
23.	Balance of Payment, Monetary Policy, Capital Market	Macro Scheme	FD officials	25	02 days	50	01.03.2026	02.03.2026	FD Multipurpose Hall (Level-17)	
24.	Training on Debt Dynamic Tools (DDTx)	Macro Scheme	FD officials	25	03 days	75	08.03.2026	10.03.2026	FD Multipurpose Hall (Level-17)	
25.	Training on CPI Baskets (BBS)	Macro Scheme	FD officials & Scheme Consultants	25	01 days	25	17.10.2026	17.10.2026	SPFMS Conference Room	
April 2026										
26.	Training on Eviews	Macro Scheme	FD officials & Scheme Consultants	25	02 days	50	07.04.2026	08.04.2026	SPFMS Conference Room	
27.	Training on DSGE	Macro Scheme	FD officials & Scheme Consultants	25	03 days	75	13.04.2026	15.04.2026	SPFMS Conference Room	
28.	Training on Economics for Non-Economist (Phase-01)	Macro Scheme	FD officials & Scheme Consultants	25	03 days	75	21.05.2026	23.05.2026	SPFMS Conference Room	






Government of the People's Republic of Bangladesh
Improvement of Fiscal Forecasting through Development of Macroeconomic Model Scheme
 Strengthening Public Financial Management Program to Enable Service Delivery (SPFMS)
 Finance Division, Ministry of Finance

Training Calendar 2025-2026
(Seminar/Workshop/Conference)

SL No	Title	Organized By	Participants	Number of Participant (Tentative)	Durations (in Days)	Total Man-days	Training Period		Venue	Remarks
							From	TO		
July 2025										
August 2025										
1.	Workshop on Macroeconomic Policy Note-1	Scheme Office	FD officials	40	03	120	26.08.2025	28.08.2025	Cox's Bazar	
September 2025										
2.	Workshop on Macroeconomic Policy Note-2	Scheme Office	FD officials	40	02	80	17.09.2025	18.09.2025	FD Conference Room	
3.	Workshop on Constant Series Data	Scheme Office	FD officials	25	01	25	29.09.2025	29.09.2025	FD Conference Room	






SL No	Title	Organized By	Participants	Number of Participant (Tentative)	Durations (in Days)	Total Man-days	Training Period		Venue	Remarks
							From	TO		
April 2026										
8.	Workshop on MTMPS	Macro Scheme	FD officials	40	5 days		19.04.2026	23.04.2026	FD Conference Room	
May 2026										
9.	Seminar on MTMPS	Scheme Office	FD, BB, NBR, BBS, ERD, NSD officials, Research Organizations, Economists	170	1 day	170	07.05.2026	07.05.2026	FD Multipurpose Hall (Level-18)	
June 2026										




